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1  ������  

 ������ �-�W?�� �2�$��� >"��� �-+��� �"�-�X Y�S"# �L��� �&' *+�-MUF=�?�06� .�� K�4��� .  
 ������ �&' =+�O-MUF ������ >"� Z[� \0� ��@ MUF=�?�06� ]"���1 K�4���  .��� �$2� ������� ^���.  

 ������ _� ������ �2�O,MUF ������8 K�4��� MUF .�� ���-+�, A< `��- �a 5J$��b� c
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M eZ���� ]"���1� 3d
�,:  
1F2 0 A< dmax  

 ]"����F2�"���� ��,��� 	
    g$h �
dmax  
1F1  km 3 400-2 000 

1E km 2 000-0 

2E km 4 000-2 000 

 i=1� ��@ ���1� j+�� k"B(km) dmax J$��1�� e+B�8 el/�� F2�2��$� �2�O- :  
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k"B:  
  fH : ]����� o8�,$�D"��� ������) �"#$��� �P0�ITU-R P.1239(  
  8:  

65432
096,0181,0088,0090,0424,0591,074,0 ZZZZZZC

D
+++−−−=  

   m
(Z = 1 - 2D/dmax)  
  C3000 : �
"�CD 34� 	
 D = km 3 000 k"B 5D �
P��� e���+�� �h��
 K' (km).  

 ������ ��@ ������� �6����� ��2�,MUF� ��4$
�� �/# �h��
 +�@ K�4���  J$��q� Y��h8 �?��, r�x +�@ 5dmax �
 8� 
 Y��h8 �?��, r�� ��4$
�� �W�$ho-wave��[��� ��4$�� s��� �2�$�
 ��h��
 +�@8  . 	Dt 5��h���� 3D� �������

 ������ ��@ �$�b�MUF ]�B �?��, r�� ��4$
�� 3����� K�4��� o-wave M .I1� +b� u&v fH 	
A81� ������� .  
2.3  ���� ��� 	
��
�D �� ���� dmax 

 >"� �+LO,F2(dmax)MUF +�@ _�"W"4$��� _�2���� m��$� d0/2 H�
W2��, r�� �
P��� e���+�� 3"#$, .�
 M u�! 3[ 	
 
d0 J$��1� el/� �$! $' F2w�1�  . ������8MUF_�
"��� w�� $' .�
�� .  
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Q"��� �WT� ��I �"�����8 . ������ &I�O- 5%&' ���=x� ��h��
 nz �
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����� 1  

 ������ ��	
MUF ������ �� 
����� ������� MUF ����� 
����� ������ F2 �Rop  

  ����� ������� ��!�"#�  $%����  

����� &'!(��  
�)*%+����,%-���   

(dBW)  

�����  '%.-��  �����  '%.-��  �����  '%.-��  

≤ 30  1,20  1,10  1,25  1,15  1,30  1,20  

> 30 1,25 1,15 1,30 1,20 1,35 1,25 

7   �&�$� �'�
� ���	� 
��	
�(OWF)  

 �[�b� 3"S?�� 3d
1� ������ >""�, >�-(OWF))  �"#$��� �P0�ITU-R P.373 ( ������ ��6+�MUF?���  3
�@ �"�2�� 3"S
 3-$L���Fl `8��- 0,95 ������ ;�[ �}< MUF J$��� �2��$� Y��+� .�
�� K�4��� E 8� F1 �8+|� ��} _�- �
[8 52 

 �"#$��� MITU-R P.1239  ������ ;�[ �}<MUF J$��� �2��$� Y��+� .�
�� K�4��� F2.  

8   �'	(� )�!$� ���	
�� 
��	
�(HPF)  

�� >""�, >�- 3
��� ��@1� ����(HPF) ) �"#$��� �P0�ITU-R P.373 ( ������ ��6+�MUF 3-$L��� 3
�@ �"�2�� 3"S?��� F1 
 `8��-1,05 ������ ;�[ �}< MUF J$��� �2��$� Y��+� .�
�� K�4��� E 8� F1 �8+|� ��} _�- �
[8 52 �"#$��� M 

ITU-R P.1239 ������ ;�[ �}< MUF.�
�� K�4���  J$��� �2��$� Y��+� F2.  

9  *+#�,� -��.��  

 J$��b� c
�0�� M �L��� �&' M �h$#$�� �����4x� &/�O,MUFFY ������� ����- `&�� 5MUF ������8 K�4��� MUF 
K�
?�� Q�D�� �+@8 �W?��8 5_�
 =�?�0� .�� 5*$"�� �@�� ��6+� �[�b� 3"S?�� 3d
1� ������8 3"S?���.  
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 R�/,=� ��@ m�, ��h�D
 �$��
 e��
 ��@ �+� ��D�06� ;� �-+�, 	Dt 5������ ��T1� ��.�� F��
 �-+���hr.  
K�- �
"h:  

x  =  forF2 / foE  8  316
2)3000(

1490 −
Δ+

=
MFM

H  

 m
:  
150

)25(096,0

4,1

18,0
12

−+
−

=Δ R

y
M  

8:  y = x 8� 1,8Z[� �
W-� 5.  
  �(   nz �
"h(x > 3,33) 8 (xr = f/foF2 ≥ 1) k"B 5f�4$�� ���, K'   

  hr = h 8� km 800�S#� �
W-� 5  
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k"B:  h = A1 + B1 2,4
-a

  34� 	
B1 8 0 ≤ a 

 = A1 + B1  6<8  
  m
:  A1  =  140  +  ( H  –  47) E1 

    B1  =  150  +  ( H  –  17) F1  –  A1 

   E1  =  –  0,09707 xr3  +  0,6870  xr2  –  0,7506 xr  +  0,6 

   F1k"v ;$D, :  
F1  =   –  1,862 xr4  +  12,95 xr3  –  32,03 xr2  +  33,50 xr  –  10,91  34� 	
xr   ≤   1,71  
F1  =  1,21  +  0,2 xr  34� 	
xr   >   1,71  

  8:  a �h���� ]�B .S�, d el/��� �h��
8 ds7���� $L��� ��@ :  
     a  =  (d  –  ds) / ( H  +  140) 

 k"B:  ds  =  160  +  (H  +  43) G 

G  =  –  2,102 xr4  +  19,50 xr3  –  63,15 xr2  +  90,47  xr  –  44,73  34� 	
xr   ≤   3,7  
G  =  19,25  34� 	
xr   >   3,7  

J(   nz �
"hx > 3,33 8 xr < 1  
  hr = h 8� km 800�S#� �
W-� 5  

k"B:  h = A2 + B2b   34� 	
B2 ≥ 0 

 =    A2 + B2  6<8  
  m
 A2  =  151  +  ( H  –  47) E2 

   B2  =  141  +  ( H  –  24)  F2  –  A2 

   E2  =  0,1906 Z 

2  +  0,00583 Z  +  0,1936 

   F2  =  0,645 Z 

2  +  0,883 Z  + 0,162 

 k"B:  Z = xr 8� 0,18 Z[� �
W-� 5b�"��� �h���� ]�B .S�,  �df8 Z8 H7���� $L��� ��@ :  
  b  =  –  7,535 df 4  +  15,75 df 3  –  8,834 df 2  –  0,378 df  +  1 

 k"B:  
)140( +HZ

d
d f

0,115
 =  8� 0,65�S#� �
W-� 5  

�(   nz �
"hx ≤ 3,33  
  hr = (115 + H J + U d) 8� km 800�S#� �
W-� 5  
  m
:  J = −0,7126 y3 + 5,863 y2 – 16,13 y + 16,07 

 8:  U = 8 × 10-5 (H − 80) (1 + 11 y−2,2
) + 1,2 × 10-3 H y−3,6  

__________  
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